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PART - A
Directions (For the 10 itemns which follow) : ' :

(1) In this section, a number of sentences are given. The sentences are underlined in three
separate parts and each one is labelled (a), (b), (c). Read each sentence to find out
whether there is an error in any underlined part. No sentence has more than one error..
When you find an error in any one of the underlined parts (a), (b) or (c¢), indicate your
responses on the Answer Sheet at the appropriate space. You may feel that there is no
error in a sentence. In that case, (d) will signify a ‘No error’ response.

(i1) Errors may be in grammar, word usage or idioms. There may be a word rmssmg or
there may be a word which should be removed.

(iii) You are not required to correct the error. You are required only to indicate your
response on the answer sheet.

1. None of the applicants have turned up for the interview ontime. No error.

(a) (b) © (d
2. Her mother did not reply when I asked her why was she weeping. No error.
(@ (b) (©) @
3. The oxygen content of Mars is not sufficient enough to support life  as we know it.
(a) (b) (©)
No error.
(d
4. He told his friends that each of them should be able to carry out the orders oneself.
(a) (b) ©
No error.
Gy _
5. If the police would have worked in time the riot would not have occurred. No error.
(2 (b) (©) @
6. The flag is risen in the morning  and taken down at night by the guards. No error.
(@ (b) (©) (d
7. I have seen him going to the theatre with his friends yesterday evening. No error.
(@) (b) © (d)
8. He was charged of murder though the evidence did every thing ’
(@ - (b
to convince the judge of his innocence. No error.
(©) @
9. Neither he nor his brother is a good student but both are good players. No error.
(a) (b) ©) (d
10. He has taken charge as principal of our college three years ago. No error.
(@) (b) ©) GV
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Directions (For the 10 items which follow) :

11.

12.

13.

14.

15.

Each of the following items consists of a sentence followed by four words or group of words.

Select the synonym of the word or words (occurrin

the context.

MOMENTOUS changes are taking place
in the social and economic life of India.

(a) notorious
(b) momentary
(c) official

(d) enormous

His condition DETERIORATED day by
day. :

(a) went bad
(b) grew worse
(¢c) went down
(d) grew bad

She is pretty INSIPID young lady.
(a) clever

(b) lazy

(¢) dull

(@ lean

It is the difficulty or SCARCITY of a
thing that it makes it precious.

(a) poverty
(b) absence
(c) insufficiency

(d) disappearance

We should not allow ADVERSITY to
discourage us.

(a) poverty
(b) darkness
(c) time of trouble

(d) unfriendly criticism

16.

17.

18.

19.

20.

g in the sentence in capital letters) as per

He is very OBLIGING by nature.

(a) helpful

(b) nice

(¢) thankful

(d) compelling

She thought that RUNNING INTO her
old friend was a stroke of fate.

(@) meeting by chance

(b) colliding

(c) travelling with

(d) quarrelling with

He was a CHARISMATIC leader.

(a) exceptionally fascinating

(b) particularly popular

(¢c) compulsively pleasant

(d) strangely haunting

She was completely ENGROSSED in
her work.

(a) disturbed

(b) absorbed

(c) fatigued

(d) successful

He is an INDEFATIGABLE worker.
(a) tired
(b) tireless

(c) brave
(d) skilful
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Directions (For the 10 items which follow) :

21.

22.

23.

24.

25.

Each of the following items consists of a sentence followed by four words or group of words.
Select the antonym of the word or words (occurring in the sentence in capital letters) as per
- the context.

A small ALTERCATION between the
children started off a riot.

(a) quarrel

(b) friendly discussion
(c) contest

(d) race

He agreed reluctantly to sign the form
but looked ILL AT EASE.

(a) embarrassed
(b) comfortable
(c) welcome

(d) easy

My mother has been working hard for
the last two weeks and she feels RUN
DOWN.

(a) energetic
(b) cold

(c) emotional
(d) morbid

The three states signed a pact to have
COLLECTIVE economy.

(a) distributive
(b) disintegrative
(¢) individual

(d) divided

He was deeply hurt by her CURT reply.
(a) abrupt

(b) short

(c) expansive

(d) rude

P-OEBB-M-HBU - A

26.

27.

28.

29.

30.

He was asked to ACCELERATE the
pace of work. '

(a) check
(b) control
(c) slacken

(d) supervise

The child was ABDUCTED when he
was going to school.

(a) seized
(b) set free
(c¢) kidnapped

(d) ransomed

The baby has a very DELICATE body.
(a) crude

(b) strong

(¢) hard

(d) bony

The government has ENHANCED the
tuition fees in schools and colleges.

(a) magnified
(b) aggravated
(¢) decreased

(d) augmented

He aims at PERFECTION in whatever
job he undertakes.

(a) deficiency

(b) immaturity

~ (c¢) badness

(d) completeness



Directions (For the 12 items which follow) :

In the following sentences, some parts of the sentences have been jumbled up. You are
required to rearrange these parts which are labelled P, Q, R, S to produce the correct sentence.
Choose the proper sequence and mark in your answer sheet accordingly.

31. hehad ‘no’tohim such a winning smile that I could not say

P Q . R S
The correct sequence should be
(@ QPRS
) RPQS
(c) SPQR
(d PRSQ

32. henodded he understood asthough everything
P Q R S
The correct sequence should be
(a PRQS
() PSQR
c) QRSP
(d SPRQ

33. the child burned down the house by playing with matches

P Q R S
The correct sequence should be
(a RSPQ
®d) QSPR
© RPSQ
(d QPSR

34. inhisinnocence Ibelieved of the charge and aquittal

P ' Q R S
The correct sequence should be
@ SQRP
() QPSR
c) PRSQ
d RPQS

A - P-OEBB-M-HBU



35. My litde sister inschool instead of reading books ~who was quite intelligent
P Q : R

played with dolls
S
The correct sequence should be
(& PRSQ
() RSPQ
(c) QPSR
@ PRQS

36. for having stood first last year at the B. A. examination he was awarded gold medal
P Q R S
The correct sequence should be
@ PQRS
() SPRQ
¢) PRQS
d SRQP

37. We are proud that as our chief guest our Mayor is a former student of this college

P Q R
who is presiding over today’s function
' S
" The correct sequence should be
(@ PQRS
(b) QPSR
¢ PQSR
(d QSPR

38. At the end of the morning exercise, ‘the soldiers to getready to leave were asked
P Q R

for an unknown destination

' 7 S

The correét sequence should be
(@ PQRS

b) RSPQ

c¢) SRQP

(d PRQS
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39. After having got up from bed the Magistrate to bring coffee ordered the attendant

40.

41.

42.

p Q
immediately
S

The correct sequence should be
(a PQRS
b)) SPQR
(co SPRQ
d PRQS

toresolve it than itiseasier to talk about a problem
P Q R S

The correct sequence should be
(@ RPQS
() QPRS
(c) PQSR
(d RSQP

tomy client that I speak immediately it is important
P Q : R S

The correct sequence should be
(@ SRQP
(b) SQPR
) SPQR
(d PSQR

R

You had better of getting a good response  so that we will be sure  work hard

P Q R
The correct sequence should be
(@ RSQP
®d) SQRP
© SQPR
(d RPQS

S
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Directions (For the next 08 items which follow) :

43.

44.

Read the following 02 passages and answer the questions that follow each passage :

PASSAGE I

There was a farewell ceremony on her last day at school, to which my parents and I were
invited. It was a touching ceremony in a solemn kind of way. The City Corporation sent a
representative and so did the two main political parties. There were many speeches and my
grandmother was garlanded by a girl from every class. Then the head-girl, a particular
favourite of hers, unveiled the farewell present the girls had bought for her by subscription.
It was a large marble model of the Taj Mahal; it had a bulb inside and could be lit up like
a table lamp. My grandmother made a speech too, but she couldn’t finish it properly, for she
began to cry before she got to the end of it and to stop to wipe away her tears. I turned away
when she began dabbing at her eyes with a huge green handkerchief, and discovered, to my
surprise, that many of the girls sitting around me were wiping their eyes too. I was very
jealous, 1 remember. I had always taken it for granted that it was my own special right to love
her; I did not know how to cope with the discovery that my right had been infringed by a
whole school.

The farewell ceremony described in the (¢) happy

passage is for the

(a) author’s mother used to teach at (d) bad
his/her school

45. Before the writer attended the ceremony

mother of head-girl teaching at her
®) g g he/she had thought

school
(© grandmother of head-girl no longer (a) he/she was the only child who
teaching at her school loved his/her grandmother

(d) grandmother of the author who ) )
used to teach at his/her school (b) all the girls in the school loved
his/her grandmother

The farewell ceremony made everyone (c) only a few girls in the school loved

- feel his/her grandmother
(a) sad
(d) only his/her parents loved his/her
(b) unhappy grandmother
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46.

47.

48.

PASSAGE 11

It is no doubt true that we cannot go through life without sorrow. There can be no sunshine

without shadow, we must not complain that roses have thorns but rather be grateful that

thorns bear flowers. Our existence here is so complex that we must expect much sorrow and

suffering. Yet it is certain that no man was ever discontented with the world who did his duty

in it. The world is like a looking glass; if you smile, it smiles; if you frown, it frowns back.

Always try. then, to look at the bright side of things. There are some persons whose very

presence seems like a ray of sunshine and brightens the whole room. Life has been described

as a comedy to those who think and a tragedy to those who feel.

The author says that we cannot go
through life without sorrow because

(a) it is our fate
(b) we are always discéntented
(c) life is a tragedy

(d) human life is very complex

According to the author no man can be
discontented with the world if he

(a) is determined to be happy
(b) is sincere in discharging his duties
(c) has a healthy attitude to life

(d) likes sunshine

The expression “life is a tragedy to those
who feel” means that it is a tragedy to
those who

(a) think about the world

(b) believe in fate

49.

50.

(c) do not understand the world

(d) are sensitive and emotional

The author says, “There are some
persons whose very presence seems like
a ray of sunshine and brightens the
whole room”. The reason for this is that
they

(a) have the capacity to love
(b) talk more of roses and less of thorns
(c¢) are happy and spread happiness

(d) look good and behave well

What is the author’s message in this
passage ?

(a) Look at the bright side of things
(b) Our existence ‘is so complex

(c) The world is a looking glass

(d) Expect much sorrow and suffering
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PART - B

Directions : The following Two (02) items 53. Which one among the following water-
consist of two statements, statement I and borne diseases is not caused by a
statement II. You are to examine these two bacteria ?
statem.ents can?fully and selec't the answers to (a) Cholera
these items using the code given below :
(b) Typhoid
Code : (c) Bacillary dysentery
() Both the statements are individually (d) Hepatitis A

true and statement II is the correct

explanation of statement I 54. The process of conventional earlobe

piercing does not lead to bleeding. This

(b) Both the statements are individually is because the
true but statement II is not the (a) heart does not supply blood to
correct explanation of statement I earlobes

(c) Statement I is true but statement II (b) cartilage found in car lobe has lesser
is false blood supply unlike other body

parts

(d) Statement I is false but statement II (c) earlobes consist of dead non-

is true dividing tissue

(d) needle used for ear piercing 1is
51. Statement I : Red blood cells burst sterilized

when placed in water.

55. After entering the human body through
Statement II : Due to the pheno- mosquito bite, the malarial parasite
menon of osmosiS (plasmodium) shows initial multiplica-

water enters into red tion in

blood cells. .
(a) Spinal chord

52. Statement I : Indigo formed the (b) Blood
basis of a flourishing (c) Liver
sector of commercial (d) Spleen
agriculture by the
beginning of the 19th 56. Which one among the following parts
century. of blood carries out the function of

) ) body defence ?
Statement II : The Indigo Commis-

sion was set up to (a) Platelets

enquire  into  the (b) White Blood Cells
grievances of  the
indigo cultivators in
1860. - (d) Red Blood Cells

(c) Haemoglobin

P-OEBB-M-HBU - A 10



51.

52.

HET - B
fEr : 3T T ATer 2 (02) 9T | & o
€, U [ A F 11 | ATIhT T ST FA1 Y
HEUHIYEd RIST FHT & S 37 g9 &
IR A & F2 #1990 o AT

&HT ;

T} T fsed: ad & A &I 1,
FIT 1 FT TG TTEIFT ©

(a)

(b)
FIT | HT G ST AGT &

(c) FTT] I ¢ Afehd = 11 S8 &

(d FFIdEIeAfFAF 0 g 8

A 1 A-&RR ST, 99 R/

@ 9 FE AT E |

. URER0T UREEAT & HROT
T AT - &G FIfRrRT J
g FAT ¢ |

ST 11

FIT 1 : 19 & yATEr d RS dF
# e AT % & o
FAT-FAT ATl &FAF  HT
ATIR §9 T |

;T ITINT T TS 1860 H
e S Al FLT qrl Y
a1 99 F9 F
fordr gorm |

SIT 11

QM I Afed: § § AR FATI,

11

53.

54.

55.

56.

freterfea Soesme Swfal § & 99

|t U, Jeiiar & ase & w@r gt ?

(a) &

(b) ST=SEX

(c) SRRt oty

(d) IFAT A

QRN Hofarfel & Ihd & @A A8l

AT | THHT FIT FRT & 7

(a) BT Fofarerdl Y G v A Tl
LT

(b) AT H 91 S Frelt Iarferal
#, WK & 3 9@ & fawdq,
AT < G ht AL Sreit @

(c) FomaTferay § ma sfawoes e
&

(d) FoMTfer BT F TR B ATt T3
fosfet i g Tt &

T3 & 129 § R § 9397 FH & 9718,
FATETIRETET (@eATfean) aRive e
Fef feamare ?

(2) U A

(b) wERH

(c) aFa A

(d) fooeit &

SRR ¥ R st § & @ ar o
STAT AR Y T T T FLaT & ¢

(a) fomamy |

(b) &F &feR wifsrenrd

(c) eMFAfa

(d) o< &feR et
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57.

58.

59.

60.

Which one among the following is not
included in the major clinical sign as
a case definition of AIDS in children
< 12 years of age ?

(a) Persistent cough for more than
1 month

(b) Loss of weight
(c) Chronic diarrhoea

(d) Prolonged fever

Polio disease is caused by

(a) Bacteria

(b) Fungi

(¢) Virus

(@ Worm

Which one among the following is the
hardest part of our body ?

(a) Skull bones of head

(b) Thumb nails

(c) Enamel of teeth

(d) Spinal vertebra

Which of the following group is present
in animal cells ?

(a) Mitochondria, Cell membrahe, Cell
wall, Cytoplasm

(b) Chloroplasts, Cytoplasm, Vacuole,
Nucleus

(¢) Nucleus, Cell membrane, Mito-

chondria, Cytoplasm

(d) Vacuole, Cell membrane, Nucleus,
Mitochondria

P-OEBB-M-HBU - A

12

61. Which one among the following state-

ments is correct ?
In digestive system of living organisms

(a) glucose is broken down into gly-
cerol

(b) glucose is converted into glycogen

(c) glucose is broken down into carbon
dioxide and water

(d) proteins are broken down into
amino acids

. Which one among the following rocks

does not belong to the same group ?
(a) Shale

(b) Limestone

(c) Slate

(d) Sandstone

. Match List I with List II and select the

correct answer using the code given
below the Lists :

List I List 11
(World Heritage (State)
Site)
A. Brihadisvara 1. Maharashtra
Temple

2. Karnataka
B. Ellora Caves

3. Tamil Nadu

C. Hampi 4. Bihar
D. Mahabodhi

Temple
Code :

A B C D

(a) 4 1 2 3

b)) 4 2 1 3

@© 3 2 1 4

@ 3 1 2 4



57.

58.

59.

60.

12 a&%mw%aﬁﬁmmaﬁr%ﬂ
afewret & frafafea & & @9 a1 o,
e AT T & A Agy @ 7

(a) 1 AEM & SareT &Y & o qrEt
(b) ToF H FH
(c) SIIHT T&q
(d) [efawrel ST

qferar SR fradht aors & ST & 2
(a) SETo

(b) FaH

(c) fermmy

@ Fh

ﬁwﬁﬁﬁﬁ%aﬁwm@,maﬁtm

FSRAH T & 7

@ RR# A afgat

(b) S & AT

(c) Al T A7

(d) AT FIER

freafafes & & &9 a1 g, o

Fifyrei & faemm & 7

(a) T FHoERT, HIRCAT-Fe, FifRH-
fafar, sifSrerr-go

(b) R T, FRET-3=, T, Feaw

(©) &=, FNE-Far, gF HoraT,
HIfTehT-go7

(&) g, FRINFET-FeT,  Few, QT

SHforeRT
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61.

62.

63.

frafafaa s ¥ d sl ar o, a8 2 ?
shifaa siat & g g &
() o frorta § 22 wmar 2

(b) TIHIT TR ¥ gRaffq & srar
g

(c) TR el STEHTHTEE AT o7ef &
ZT STET §

(d) TR AT vt F g2 oy €

frreforfea At § 2 a1 o, o & ag
¥ gefer 7@t & ?
(a) VT
(b) TAT-TR
(c)FF\'!Z
(d) ITIHRA
T = gEr 10 @ gl fife sk
gt & A Ry T e @ gEnT A a
IR FfAT -
1l gt I
(e farmaa (Tr=)
o)
A. FEENR #fR 1. AERTSE
B. TSR & 2. FAleH
C. TF Y 3. afwemTg
D. wereier #fex 4. faEr
& ;
A B C D
@ 4 1 2 3
® 4 2 1 3
© 3 2 1 4
@ 3 1 2 4

A -~ P-OEBB-M-HBU



64.

65.

66.

Match List I with List II and select the
correct answer using the code given
below the Lists : ‘

List I List II
(Himalayan Peak) (State)
A. K2 1. Uttarakhand
B. Nanda Devi 2. Jammu &

Kashmir
C. Tara Pahar g
3. Sikkim
D. Kanchenjunga
4. Himachal
Pradesh
Code :
A B C D
(@) 2 1 3
® 2 1 4 3
) 3 1 4 2
d 3 4 1 2

The Deccan Trap Formation was caused
by

(@
(®)
©)
(@

Shield eruption
Composite eruption
Caldera eruption

Flood basalt eruption

Which of the following statements

is/are correct ?

1. Inter-Tropical Convergence Zone is
a low pressure belt which forms an
important zone of contact over
Northern India and Pakistan.

2. Inter-Tropical Convergence Zone

invites inflow of winds from
different directions.
P-OEBB-M-HBU - A
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67.

68.

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

Consider the following characteristics of
industries :
1. They can be located in a wide
variety of places.

2. They are not dependent on any
specific raw material.

3. They are generally not polluting
industries.

4. The most important factor in their
location is accessibility.

Which one of the following types of
industries has the above characteristics ?
(a) Market oriented

(b) Foot loose

(¢) Sunset

(d) Sunrise

Consider the following statements
regarding El Nino effect on Indian
Monsoon :

1. The surface temperature goes up in
the Southern Pacific Ocean and
there is deficient rainfall in-India.

2. The Walker Circulation shifts
eastward from its normal position
and reduces monsoon rainfall in
India.

Which of the statements given above
is/are correct ?

(@)
(®)
©
Gy

1 only

2 only

Both 1 and 2
Neither 1 nor 2



64. T I T g 11 A gafera v ek

65.

it & 9 fow T gz 1 gA@ AR A
IR I : | ‘

g4 1 =T 1
(e farew) (T=)
A.K2 1. @S
B. AT 2. STH-FIHR
C. IRT 981 3. faferw
D. FHEAST 4. o= wewr
Fe :

A B C D

@ 2 4 1 3

® 2 1 4 3

© 3 1 4 2

@ 3 4 1 2
SRR 29 A Ty RS FHROr 5 ?
(a) 9ffém szmx
(b) EIH IFIR
(c) STET FUS TR
(@) - IR

66. freforfeT waet & srar /Fwer g /& 7

1. 3q:-IWhfEaey SR Ffeary
T 1 T afger @ o ot e
R aifeea & o9 qem wensf
HISH FATET § |

2. AT:-IWEHEAET TmRur wfEawr
fafirr feumsl & waa) & siaafe
ATHET 2T § |
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67.

68.

= RT 7 g2 w1 w@ wR wEr 3w

i

(a) had 1

(b) FaeT 2

(c) 132 aEf

(d Tary, g2

S & fEfafaa st w fer

g . .

1. ¥ s fAfdwar ae oy w
HaferT & asha § |

2. ¥ ot fafire #=3 w7 @ finfc
e g

3. AR 9K TgNOT 7 & qTer FART
g

freforfad gor & S ¥ & g o &
S afsrereor @ € ?

(a) RN

b) E=v=

(c) e

(d) IS

WA ATET IR T AT F I91F F AR
# frafafea w = fEr fiftg .

1. =feoft garvg weEER § 9T arw
WA SEAT € 9K R & qul awf
gl 2 :

2. FTER qRE=RT A9+ g fRfy &
qat faem ¥ eymraia 8 omar @ sk
AR # AFGHAT 997 &7 &7 &< T
gl

St T A A @ aT/A a2 /8 7
(a) Had 1

(b) Fae 2

(c) 132 aAf

(d TarL, T2

A - P-OEBB-M-HBU



69.

70.

71.

72.

In which among the following terrains
the bore wells and canals can be dug
easily ?

(a) Gneiss, granites and basaltic terrain
of Peninsular India

Rolling and dotted hilly terrain of
North-East India

(®)

(¢) Soft alluvium of the Northern
Plains :
(d) Confined aquifer below the normal

water table

Wide range and variability in rainfall,
torrential in character, reversal of winds
and uncertain arrival are the characteri-
stics of

(a) Westerlies

(b) Trade winds

(¢} Monsoon

(d) Anti trade winds

Which of the following statements
is/are correct ?

1. The local time of Itanagar
(Arunachal Pradesh) is about two
hours ahead than Dwarka (Gujarat).

5. The local time at Chennai (Tamil
Nadu) and Lucknow (Uttar Pradesh)
is almost same.

3. The local time of Mumbai
(Maharashtra) is one hour ahead
than Kolkata (West Bengal).

Select the correct answer using the
code given below :

(a) 1 and 2 only
(b) 2 only

(c) 1and 3 only
(d 1,2 and 3

Mackeral sky is associated with cloud
type

(a) Cumulo-nimbus

(b) Strato-cumulus

P-OEBB-M-HBU - A
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73.

74.

(¢) Alto-cumulus

(d) Cirro-cumulus

The average surface temperature of the
earth’s surface 18

(a) 10°C

(b) 15°C

(c) 8°C

(d) 5°C

Match List I with List IT and select the
correct answer using the code given
below the Lists:

List I

(Atomic power station)
A. Narora
B. Rana Pratap Sagar
C. Tarapur
D. Kalpakkam

List I1
(Position in map)

Code :
A B C D
@ 2 4 3 1
by 1 - 3 4 2
© 2 3 4 1
@ 1 4 3 2



69.

70.

71.

72.

frremferfera st & & forr & 3w 79 i

AR AT & @& 57 Hopat & 7

(a) IEETT IR & A1, ¥R sk
S|TeE ATl AT

(b) THRYF IRa 1 a<fi #% frgf
TRIET W

(c) IRI A=HI %1 ¥g TaTT

(d) §HT 6 JeeeR & A9 afiegy
ST

awf @1 faege afer sik Bfdear, &

YAl @ET &, GEAT FT FFAT K

st s o srfivereror & 7

(a) IFRYHT 939

(b) =TT a7

(c) HIFHEA

(@) wft = o

frefofaa & & @19 a1/& a7 g &/

g7

1. SRR (STEUTT=e 9R9T) T ey
Wﬂw(m)%aﬂwa‘ra@
SIS

2. I (qferre) ok TEes (sat
RRT) &1 CIHS TH SRTSRT G0 & |

3. @ (WeRTSZ) &1 e auy
FieTar (afeam ame) & o gue
AT 2 |

= fRT T Fz w1 uEn W e SR

ERE

(a) Eﬁaalaﬁrz

(b) e 2

) Fad 1 3

(d 1,2 ¥k 3

A MHFWT o Ag-ge7 & dag 27

(a) SFUTEEST
(b) W Farat

(c) =T FOTET

(d) & FITEHY

73. IS T AT T2T 19 foveaT & 7
(@) 10°C
(b) 15°C
(c) 8C
(d) 5°C :

74 GHI F g 0 & gl ife ok
gl & i w1 gz @ v a oad
IR Ff .

gl 1
(TervET e ®are)
A. R
B. JUTIATT §RR
C. TR
D. Foqaq
A1
(7rafar 7 feafyy)
&
A B C D
@ 2 4 3 1
® 1 3 4 2
© 2 3 4 1
@ 1 4 3 2
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75.

76.

77.

78.

79.

Ferral’s law is related to deflection of
(a) cold air-mass

(b) hot air-mass

(c) monsoon air-mass

(d) trade wind and ocean currents

The grassland region of South Africa is
known as

(@)
®
©)
@D

Selvas
Downs

Veldt

Llanos

In India, the Tropical Savanah (AW)
type of climate prevails largely in

(a) ‘Rajasthan desert region
(b) Peninsular plateau region
(¢) Jammu & Kashmir region

(d) North-Eastern region

The Nokrek biosphere reserve is located
in

(a) Arunachal Pradesh

(b) Assam

(¢) Sikkim

(d) Meghalaya

Match List I with List IT and select the

correct answer using the code given
below the Lists :

List 1 List II
(Place) (Industry)
A. Jabalpur 1. Petro-chemical
B. Bengaluru 2. Information

technology
C. Modinagar 3. Paper
D. Ballarpur 4. Automobile

P-OEBB-M-HBU - A
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80.

81.

Code :

(a) 4 1 2 3

b 3 1 2

&~ b

) 3 2 1
d 4 2 1 3

Where is Aghil Pass located ?

(a) Nepal Himalayas

(b) Sikkim Himalayas

(¢) Eastern Himalayas

(d) Trans Himaiayas

Match List I with List II and select the

correct answer using the code given
below the Lists :

List I List II
(River) (Sea)
A. Volga 1. Sea of Azov
B. Dnieper 2. Black Sea
C. Rhine 3. Caspian Sea
D. Don 4. Mediterranean
Sea
Code :

(@ 1 4 2 - | 3
®d 1 2 4 3
) 3 2 4 1

@ 3 4 2 1



75.

76.

77.

78.

79.

%ot &7 e fores e & dafe 2 2
(a) sia ag "=fy

(b) I 17 wefa

(c) W aTg wefr

(d) =AF 997 Ud AgERRY aRId

for T & g T U ST T
Fed & 7
(a) TeaTE
(b) st
(c) dvsE
(d) @

TR # o1 HTE T TaT (AW) T&7 Y
STy ATFIE: Faf ffed & ?

(a) TSR HEETT TNT

(b) IEETNT TSRY geur

(c) STH-FHIHI g_T
(d) ITR-TET 9=
Ahah Siaweer fod Fgt saferg &7
(a) STRUTHS 9exT
(b) rEH
(c) faferw
(d) ¥
g I @ g 11 & gRfed il ik
gf=at & A Ry 10 gz &1 yahr a% aer
Wﬂﬁ'q:
g1 = 11
(Tam=) (=)
A. SFAR 1. 9Er-T@EA
B. SIe(® 2. AT SRy
C. AR 3. HOST
D. SIeARYT 4. AR

19

& ;
A B C D
(a 4 1 2 3
(b) 3 1 2 4
(cy 3 2 1 4
d 4 2 1 3

80. aniferer =<f et srafam & 7

81.

(a) 79Te fewmer Sof
(b) Rffes femem Soir
(c) gat feamer Soir
(d) IR fewme s
g1 F gEl 11§ gAfera Fifmg sk
gfat & ¥ R 10 g2 &1 19w #= g8
IR AT :
| g1 il

(7H) (a7R)
A. JET 1. ST FT TRR
B. A9 2. FW[ AR |
C. 5T 3. HfemT gvR
D. 3 4. FE AER
%<

A B C D

@ 1 4 2 3

® 1 2 4 3

© 3 2 4 1

@ 3 4 2 1

A - P-OEBB-M-HBU



82. Which one among the following transi-
tions is associated with the largest
change in energy in hydrogen atom ?

(@ n=5ton=3
) n=2ton=1
(¢) n=3ton=2

(d n=4ton=2

83. Match List I with List II and select the
correct answer using the code given

below the Lists :

List I
(Compound)

A. Cellulose
nitrate

B. Potassium
sulphate

C. Potassium salt
of fatty acids

D. Calcium oxide

Code :
A B C
(a 2 3 1
® 2 1 3
c) 4 1 3
d 4 3 1

List II
(Use)

. Soft soap

. Gun powder
. Fertilizer

. Glass

VN A T

84. Which one among the following does

not have an allotrope ?
(a) Oxygen
(b) Sulphur
(¢c) Nitrogen
(d) Carbon -

P-OEBB-M-HBU - A

85. Match List I with List II and select the
correct answer using the code given
below the Lists :

List I List II

(Scientist) (Discovery)
A. Goldstein 1. Atomic theory
B. Chadwick 2. Proton
C. JJ Thomson 3. Neutron
D. John Dalton 4. Electron
Code :

A B C D

(@ 2 3 4 1

b 2 4 3 1

© 1 4 3 2

@ 1 3 4 2

86. Consider the following statements :

1. Diamond is hard and graphite is
soft.

2. Diamond is soft and graphite is
hard.

3. Diamond is a bad conductor but
graphite is a good conductor.

4. Diamond is a good conductor but
graphite is a bad conductor.

Which of the statements given above
is/are correct ?

(a) 1 and 3
(b) 1 only

(c) 2 and 3
(d) 1 and 4

20



82. Frafafeq awaol & & a9 @1 =

83.

84.

TTESIS TRATY] H Hewd Fol 3R & 6ag
g7

(@ n=5¥n=3
() n=28n=1
() n=38dn=2
(d n=48n=2

gE I & el 0§ gafea fifsg stk
gfat & e fig T e &1 ganr o) adr
Wﬂ'ﬁm:
il = 11
(atfirew) (7avT)
A. AT TR 1. 93 |
B. MR g 2. aTEY
C. IqT-4FAT & 3. I
Refimw aer 4 T
vuaﬁmwwmmg
E & :
A B C D
@ 2 3 1 4
® 2 1 3 4
(c) 4 1 3 2
@ 4 3 1 2
frafafea & @ fora o @7 srew At

erar ?

(a) WTRASTT
(b) Tuw

(c) IS
(d) A

85. g I 9 g 1 & g Hifg dk

gt & i fRg g g &1 ga a) A
SRS (L
'Eﬁl g I
(Frfaer) (@)
A. MeEEeTEA 1. oAy frgra
B. Sfeas 2. Qi
C. 3. 3. atFaq 3. g
D. S Sreed 4. THFE
&
A B C D
@ 2 3 4 1
® 2 4 3 1
@ 1 4 3 2
@ 1 3 4 2
. frafafaa st @ faer fifv .

1. 31 FBR a1 g @R dwee =
T g

2. BRT A Tar § 4R fwrme FHR
T 2 |

.81 Fuew g e dwme
qaeH ¢ |

4. BT guew ¢ feg e
FATAF ¢ |

Sudth &I A A wF a1/ gEr 8 /8 7
(@) 133
(b) Fae 1
(c) 2R3
(@ 134
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87.

88.

89.

90.

The most important raw materials used
in the manufacture of cement are

(a) Potassium nitrate, charcoal and

sulphur
(b)
(©)

Limestone, clay and gypsum

Transition metal oxides, sodium
hydroxide or potassium hydroxide

Limestone, sodium carbonate and
silica

(d

Which one among the following equa-
tions is correctly balanced ?

(2) NaOH + Al + H,0 —
2H, + NaAlO,

(b) 2NaOH + 2Al + 2H,0 —
3H, + 2NaAlO,

(c) 2NaOH + 2Al + 3H,0 —
4H, + 2NaAlO,

(d) 2NaOH +2Al + H,0 —
H, + 2NaAlO,

Three elements Na, S and O combine to
form a compound Na,SO;. What is the
valency of S in this compound ?

(a) 2+

) 4+

(c) 6+

d 8+

Which one among the following is the
equivalent weight of sulphuric acid ?
(Atomic weight : H=1, S =32, O =16)
(a) 98 '

(b)y 60

(c) 100

(@ 49
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91.

92.

93.

94.

(©

Deionised water is produced by
(a)
(b)

Calgon process
ion-exchange resin process
Clark’s process

(d)

permutit process

Which one among the following is a
double salt ?

(@) K [Fe(CN)g]

(b) K,S0,4-Al,(S04);-24H,0

(c) CuSO,-5H,0

(d) NaCl

Which one among the following is the
correct order of strength of acids ?

(a)
(b)
©
(@)

H,SO, > H;PO; > CH;COOH
H,PO, > H,S0, > CH;COOH
CH,COOH > H;PO; > H,S0,
CH,COOH > H,SO, > H;PO,

Given below is an approximate com-
position of a substance :

CaO  60-70%
Sio,  20-25%
ALO,  5-10%
Fe,0,  2-3%

The substance is
(a)
(b)
(©
(d)

Plaster of Paris
Cement
Marble stone

Quartz



87.

88.

89.

90.

dive & fmfor § g @=@ "oy
Fod WA R & 7

(@) TREw A1ge, IRFIT R T

(b) FAT TR, ghaet ik form

) THFAT Ul HfFEIEE,  SiRgw
HESMERIESRII  Ci Mok I EeS ool et

(d T TR, difsgr s@Ehe sk
faforent

feforfera avfienoll & & 7 a1 U, Tgr

s 2 7

(a) NaOH+Al+H20——>
2H2+NaA102

(b) 2NaOH + 2Al + 2H,0 —
3H, + 2NaAlO,

(c) 2NaOH + 2Al + 3H,0 —
4H, + 2NaAlO,

(d) 2NaOH + 2Al + H,0 —»
H, + 2NaAlO2

1 T Na, S 9K O &6 8o Na,S0,
qifireh ST € | 70 4 § S Y @atetenar
w7
(a) 2+
(b) 4+
(c) 6+
d 8+

el § ¥ @ a1 o, weris

T FHT JATH AR & 7

(A 9R : H=1, S=32, O = 16)
(a) 98

(b) 60

(c) 100

(d) 49

23

92,

93.

9%4.

‘ Fe203

. fo-smaffa s &8 senfeg e 2 7

(a) T ST g
(b) e fafma e vww gy
(c) FATH 9% ERT

(@) RHEfee g7 gry
frafafaa & & o= a1 o, feeror 2 7

(@) K,[Fe(CN)] |
(b) K,S0,-Al,(SO 4)3°24H,0
() CuSO, SH,0

(d) NaCl

frafafes & & 239 @1 o, w6
ST FT G&T T & 7

(2) H,SO,>H,;PO, > CH,COOH
(b) H;PO; > H,SO, > CH;COOH
(©) CH;COOH > H;PO, > H,SO,
(d) CH;COOH >H,50, > H,P0,

el werd &7 Wi daeE A far
’WT%:

CaO
SiO,
Al, O,

60-70%
20-25%
5-10%
2-3%
I8 9arl 7 & 7
(a) T @z
(b) W
(c) A& e
@) hiew

A - P-OEBB-M-HBU



95.

96.

97.

98.

In KMnO, molecule, the oxidation
states of the elements Potassium (K),
Manganese (Mn) and Oxygen (O) are
respectively

(a) +1, +5, 2
(b) +1, +7, -2
(¢ 0,0,0

(d) +1,+7,0
Air 1s

(a) always a compound
(b) always a mixture
(c) a compound in pollution free zones

(d) a mixture in industrial zones

Consider the following figure :

'y
A C
)
Tl
(3
[=]
@ /
=
=
L
S
~
B D
Position

Which of the following labelled points
in the figure given above indicate
unstable state of an object.?

(@)
()
©)
(@

Point A only
Point B only
Points A and C
Points B and D

Which one among the following is an
electrochemical cell that cannot be
charged ?

(a)
(b)
©
(d)

Electrolytic cell
Storage cell
Primary cell
Fuel cell
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24

99.

100.

101.

102.

Which one among the following is the
correct order of power consumption for
light of equal intensity ?

(a) CFL tube < Fluorescent tube <
Incandescent bulb < Light emitting
diode

(b) Light emitting diode < CFL tube <
Fluorescent tube < Incandescent
bulb

(¢) CFL tube < Fluorescent tube <

Light emitting diode < Incandescent
bulb

(d) Incandescent bulb < Light emitting
diode < Fluorescent tube < CFL
tube

One feels heavier in a lift when the lift
(a) is going down steadily

(b) just begins to go up

(c) is moving up steadily

(d) descends freely

A swinging pendulum has its maximum
acceleration at

(a) the bottom of the swing
(b) the two extremities of the swing
(c) every point on the swing

(d) no particular portion of the pendu-
lum :

Which one among the following
statements about thermal conductivity is
correct ?

(a)
()
©
(D

Steel > Wood > Water
Steel > Water > Wood
Water > Steel > Wood
Water > Wood > Steel



9s.

96.

97.

98.

KMnO,, 319 &, 93w (K), #-IST (Mn)
AR AT (0) Tl 6T FH Ig=Ea
JIT FTE 7

(a) +1, 45, 2

b)) +1, +7, -2

(¢ 0,0,0

@ +1,+7,0

g

(a) BHAT TF AAIE §

(b) TAT T fipor &

(c) WgW Ifed &= # U Aifiw 2
(@) rnfirer o= § uw fmor @

frafofaa smefy w s i -
A
C

P_>5 A
L A
=
53]
=
5
]
(=%

B D

Position

TR & T st #, fFefoafea 9 &
fafsa forg, awq & sremat ferfa v g
A B 7

(a) FafSg A

(b) ¥ foig B

) g AR C

@ g B D

frafafaa & & ag @9 @1 &, faga-
At de &, Rt O qzor At e
ST ghat 7

(a) ﬁ@a—maﬂ

(b) @=EE qA

(c) gratdes e

(d) Fom aa
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99.

100.

101.

102.

frefofaa & & &9 a1 @ @9, o=

draar & gty fY viET @ug &1 ger

FHR?

(a) CFL afosr < gfaeifa afemr <
ATIEIY aedl < ToRTST IS ST

JFHIRT IESH A < CFL qfeaT <
gfaifa aferer < amadig s

CFL Aforent < ufagifa afererr < gamer
IS ST < q9SIT Sod

ATIEIH T < T IESF ST <
gfaeifa aferar < CFL Aot

(®)
©

(d)

& forde # srerera srfarer R wegm o
g 59 fawe

(a) forafy & = ot @

(b) N FW S FY At 2

(c) TR afq & Fu ot @

(d) T &7 F A9 It B

AATAN edd B afdeaq = o
I R AT 8 ?

(a) FAE & aeT I

(b) T F A T |

(c) o & BF fag W

(d) I F fFdar foaQiw 9t o= =@y

FT IATdhaT & gatuq, fefafaa sy
AT FTaT s, q81 8 7

(2) T > qHS > 5T
(b) & > T > FThST
(c) ST > WA > Tl
@ ST > dehel > @il

A - P-OEBB-M-HBU



103.

104.

105.

The process of nuclear fusion in the sun
requires

(@)

very high temperature and very
high pressure

(b)
(©)
(d)

low temperature and high pressure
high temperature and low pressure

very high
pressure

temperature and no

Which one among the following is the
true representation of (i) variable DC
potential (ii) rheostat and (iii)) AC
ammeter respectively ?

(@)

(i1)

(i)
© O
(i)
(iii)
d O
@i1)
(iii)
In India, distribution of electricity for
domestic purpose is done in the form of

(a) 220 V; 50 Hz
(b) 110 V; 60 Hz
(c) 220 V; 60 Hz
(d) 110 V; 50 Hz

P-OEBB-M-HBU - A
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106.

107.

108.

109.

The earth’s magnetic field is approxi-
mately

(a) 1 Tesla
(b) 2 Gauss
(c) 104 Tesla
(d) 1 Gauss

Yellow colour light is used as fog light
because yellow colour

(a) light is most scattered by fog

(b) has the longest wavelength among
all colours

(¢) has the longest wavelength among
all colours except red and orange
but the red colour is already used
for brake light and stop light
whereas orange colour is avoided

due to its similarity with red

(d)

has the shortest wavelength among
all colours not already reserved for
other purpose

A hot object loses heat to its sur-
roundings in the form of heat radiation.
The rate of loss of heat depends on the

(a)
(b)
(©)

temperature of the object
temperature of the surroundings

temperature difference between the
object and its surroundings

(d)

average temperature of the object
and its surroundings

The mirror used for the head light of a
car is

(@)
(b
(¢) cylindrical

spherical concave

plane

(d) parabolic concave



103.

104.

105.

qd § TR dorme g F oo e 4y 106.

HTTYFFAT § ? |

(a) AT 3= a7 ok orfy 9= &

(b) e am ok = g

(c) =% a9 4R ey T 107
(d) T =7 qmg sk AL qrer 7

ﬁmﬁf‘@?rff%aﬁwm@,aa‘q(i)crﬁaa‘f
DC @ (i) a=r fdas 3 Gi) AC
YR T gurf fregor @ 7

@ O —
O
(iii)

® O —h==
(ii) —yxd—
(iii)

© @

(iii)
@ @O —r—
(ii) —y«d—

(iii)

Wﬁ,ﬂiﬂgﬁﬁ?%ﬁm%ﬁﬁrm 109.

faraer fore &9 & frar ST 2 7
(@) 220 V; 50 Hz
(b) 110 V; 60 Hz
(c) 220 V; 60 Hz

(d 110 V; 50 Hz

27

— ez
Gy 4 108.
'

g T JTHT & T e 2 7
(a) 1 Tesla

(b) 2 Gauss

(c) 10% Tesla

(d) 1 Gauss

. Il W1 F AN Fre a< § St 2

ESNIE D

(a) FER GRT N TT F7 gl Ty
ferew grar @

®) & TN A N GroFT qar
Jdaw &

(c) & G A, Fer QT R ATGRH AT Y
BITH, Tl QT &7 a7 o Shefqmy
BT 8 TR oer 1 @7 9A gey &
& 3 AT AR R areE ¥ v §

W IH ® SEE A G a afer
I T TT & qHETaT F FRor 6y
STTaT @

(d) mﬁ%rﬁﬁ’qﬁﬁhama@éafagaw
e B, i ferelt = waiem % forg
T T TR AR T@T T R

T IS0 I&], FAT fafemor & &q #F srqer
FEAT 9 gfeaer § oie ¥ ® | swm ety
il R fre W sk @ 27

(@) I & AYHT T

(b) @AY & qrwe w

(c) T R gfFAer F aram F 3w ©w
(d) & IR gf@y & siaa qomm )

FR & UL & &7 ¥ 59T & Ay Sy
T Tdor T AT & 7

(a) AT AgqT

(b) THT

(c) IATAEHER

(d) RFafds sgad

A -~ P-OEBB-M-HBU



110.

111.

112.

An iron ball and a wooden ball of the
same radius are released from a height
‘H’ in vacuum. The time taken to reach
the ground will be

(a) more for the iron ball

(b) more for the wooden ball

(c) equal for both

(d) in the ratio of their weights

Match List I with List II and select the

correct answer using the code given
below the Lists :

List I List II
(Magnet) (Property)
“ A. Artificial 1. Long lived
magnet

2. Last for infinitely
B. Permanent

magnet long period
C. Temporary 3. Short lived

magnet ‘

4. Induced magnet

D. Earth as a

magnet
Code :

A B C D

(@ 3 1 4 2

b 3 4 1 2

) 2 1 4 3

@ 2 4 1 3

A body weighs 5 kg on equator. At the
poles it is likely to weigh '

(a) Skg

(b) less than 5 kg but not zero
(c) O0kg

(d) more than 5 kg

P-OEBB-M-HBU - A
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113.

114.

115.

The polarity of an unmarked horse shoe
magnet can be determined by using

(a) a charged glass rod
(b) a magnetic compass
(¢) an electroscope

(d) another unmarked bar magnet

A staircase has 5 steps each 10 cm high
and 10 cm wide. What is the minimum
horizontal velocity to be given to the
ball so that it hits directly the lowest

plane from the top of the staircase ?
(g=10 ms—2)

(a) 2 ms~!
() 1ms!
(©) 2 ms!

@ % msh

Consider the following statements :

1. If a piece of bar magnet is broken
into two equally long pieces, the
pieces will not lose the magnetic
properties.

2. Magnetic properties of a substance
lie in the atomic level.

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 2 only
(¢) Both 1 and 2

(d) Neither 1 nor 2



110. TH-THE B it o ae f 3R uw

111.

112.

15 & i fafa & ‘B’ $=E & Mifa 6
T | T R IS § @ arer ang
(a) @R & ¥ F forw stferes gnmr

(b) 1S & AT & forg arferer Spmr

(c) T & forg sRre g

(d) ITH R F U § SR

W & g 0 & gafera it sk

gt & A R 1y 2 @ wE AR ad
Eﬁ'(ﬁﬁ'({:
T 1 = 11
(T=) (Fqor-er¥t)
A. T Jrae 1. &ref Sy
B. &I e 2. s et
= , IF & ey
C. STt =i 3. &g SEy
D. 951, T=% 4. ¥fa g
FETH
& :
A B C D
@ 3 1 4 2
® 3 4 1 2
€ 2 1 4 3
@ 2 4 1 3

T five 7 oo sprer T W S ke 2
YAl T IEHT AT a9 T ST ?
(@ Skg

(b) 5kg & & forey o1 7Y

() O0kg

(d) 5kg ¥ aferes
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113.

114

115.

ufafed @ das i gaar a1 fefor
foreres waieT & foRar ot warar & 2

(@) & R T A v

®) TF Frh -

(c) U= forgaesif

d) TF I fufea & g

T St § 5 wifeat & S g @ 6
91X 10 cm ¥R 1€ 10 cm 1 2 )
~raw feraer &fow 3 R s anfs =

Gﬁ%%ﬁmﬁaﬁ?}ﬁwwqrﬁ&?_
(g =10 ms™?)

(a) 2ms!
(b) 1 ms!
() V2 ms!

(d 7 ms!

frmfafe Fot < A Hife .

1. IfE &5 T & TF T Y qOEK
TS F A ZHST A qreT 9@ R, v
THS IR 07 A4S @Y |

2. e & FFIR U GRKHOET St
TR

S FAl X R AT/F A &/ ?
(a) Had 1

(b) Fad 2

() 13K 2=

(d FaL T@2
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Consider the following circuit :

3Q

1|

!
RN I
6V K

The current flowing through each of the -

resistors conrnected in the above circuit
is

(@)
()
(©)
(d)

2A
1A
9A
4A

Consider the following statements :

The state government shall appoint a
Finance Commission to review the
financial position of the Panchayats and
to make recommendations as to

1. the distribution between the state
and Panchayats of the net proceeds
of taxes, tolls and fees leviable by
the states.

2. the determination of the taxes,
duties, tolls and fees which may be
assigned to the Panchayats.

3. the principles that will determine
grant-in-aid to the Panchayats.

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 and 3 only
(¢) 1 and 3 only
(d 1,2and 3

P-OEBB-M-HBU - A
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Which one among the following monu-
ments was earlier known as ‘All India
War Memorial® ?

(a) Gateway of India

(b) India Gate

(¢) Charminar

(d) Lal Quila

Which of the following statements

regarding the Preamble of the Constitu-
tion of India is/are correct ?

1. The Preamble is an integral part of
the Constitution.

2. The words ‘secular’ and ‘socialist’
have been a part of the Preamble
since its inception.

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

(¢) Both 1 and 2

(d) Neither 1 nor 2

Normally the Parliament can legislate on
the subjects enumerated in

(a) the Union List
(b) the Concurrent List
(c) the State List

the Union as well as Concurrent
List

(d)
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frafafaa afayr w e $ifE -

3Q

pEs

-\.-Mi——()K—%
6V

FR 7 7 aftwy § gag v@w vfikas
§ gaTer aT faRat & 7

(a) 2A

(b) 1A

(c) 9A

(d) 4A

fFreafafaa st w fer fiftm .
TS TR Uk fo=1 smaiey ar forgery st
S o Y forefta ey @ qetrenor sk

1. TS GRT IR fordd S 7t e,
TIE UF B F Faer s ¥ Oy
T 99dl & & o ¥ g §
ferarfest &8 |

2. T9EAT T wegeE fRU s g
T, Yoh, TIH UF K &7 Fefkor
HAM |

3. eI & fRu ™ I wemer
I 7 ferfoor s arer frgiat &
fawg ¥ fawrfest s |

STTh FoAl # § w AT/ ¥ w2 /E

(a) hae |

(b) ‘ércra'zsﬁm

(c) FaeT 1 3R 3

(d 1,2 3Rk 3
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Freafifes & e o @me 31 of §
‘ufee IRAT 48 ®IRE F ®7 F S
ST o7 ?

(a) T arvw sfear

(b) zfear 1=

(¢) IRHMR

(d) e far

TRd & dfags i efier & ar &

Frefafea ¥ S ar/d s adr 2 /8 7

1. ST &t 1 iy s 2

2. =2 ‘qufide’ sk ‘TSI
R F IR ¥ & s e @
=

AN fRT T 2 @1 wERr W oad 9

T

" (a) a1

120.

(b) a2

(c) 13R2IAf

(d) Tary, 92

Amr: e fr gt & afrfr
T fater-fmfor @< @y @ 2

(a) & =T

(b) FHAT it

(©) T~w &

(d) & g A R qEadt g
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Which one among the following
statements relating to the Home Rule
movement is not correct ?

() The movement, instead of going
forward after its great advance in
1917, gradually declined in 1918

Annie Besant, the leader of the
movement did not oppose the entry
of Extremists

(®)

(c) The movement became weaker and
weaker because of the continuous
differences of opinion among the

nationalist leaders

(@

The movement was again revived
by Mahatma Gandhi

122. Why did Gandhiji go to Champaran ?

123.

(@)
()

To launch a Satyagraha movement

To launch a non-cooperation move-
ment

©

To enquire into the grievances of
the indigo cultivators

(d) To fight against the zamindars
Which one among the following was
the fundamental cause of the first
Karnataka War between the British and
the French ?

(2) Participation of the English and the
French in the native politics of
Karnataka

(b) The ambition of Dupleix to drive

out the English from the South

© the

The trade rivalry between
English and the French

The war of Austrian succession
because of which Britain and
France became each other’s enemy
in every part of the world

@
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125.

126.

127.

Which one among the following cities
was the best producer of silk cloth under
Gupta reign ?

(a)
(b)
©
(d

Pataliputra
Murshidabad
Ghazipur

Varanasi

Which one among the following is not
correct about the cave paintings at
Ajanta ?

(a) Scenes have no dividing frame and
blend into each other
(b) Scenes are both religious and

secular in nature

The influence of the Gandhara art is
seen ¢

©

(d

Scenes mostly depict tales from
Jatakas

Vice-President -of India is elected by
an electoral college consisting of

(@

members of both Houses of Parlia-
ment

(b)
©

members of Rajya Sabha only

elected members of both Houses
of Parliament

elected members of Lok Sabha
only

(d)

Who among the following has a right
to speak and otherwise take part in
proceedings of either House of Parlia-
ment and to be a member of any
parliamentary committee but is not
entitled to vote ?

@
(b)

Chairman, Finance Commission
The Attorney General

(c) The Comptroller and Auditor
General »
(d) The Chief Election Commissioner
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frafafea & & a7 w1 © w1 9 =

AR & Haier & qer agf & ?

() T eI, 1917 ¥ aga s any
ST & ORI, 9K T Sy Y o,
1918 & &R-€R grwgE gom

(b) T AR T Jar wh adz 3
TRAZAAT & T3 F7 f3)0y A=t R

(c) USZATE AT F & o wase €
9T § T ATSITT FHA F FHAR
BT =T 4T

(d) ¥8 AR TEeAT WEY FRT T &
gestifad fomar

el S FaRor F¥4 g ?

(a) I S T o v ¥ forg

(b) STEEINT SIS T IR I & forg

(c) I T QT A qTelt Y Rrewrarat S
S -95aTe R & forg

(d) SHI=RT & faems aev F frg

ﬁmﬁﬁaﬁ@ﬁwm@,aﬁﬁ@r

Wﬁﬁ%aﬁ?%ﬁaﬂﬁﬁﬁﬁm‘ﬁ

T g7 7

(a) FAfeH ht gar ToAIT F S qoT
HTEIAT Y TRy

(b) 3T @ oo ¥ ST FEEEr
g T we@THRTET

() 3NN @ SR & &fiv =R
gfderyf

(@) e TSagTfy # 3g fSmd aee
& 527 w3 wig g & ot swit &
T T & O &9
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frefafaa & 7 @1 TR, 10 yEE-Tw
q WA a6 T gataw IeTes o7 ?

(2) dreforg

(b) ez

(c) ISR
(d) FROTET

frefafes & @ a7 a1 o, o »
THIEr & fawg & ady agi 2 7

(@) T TIH-T9% &+ § T Qo T
TR go-firer &

T @EY § uiffe wF guficer
A

TR AT T g7 e &

T TR STAF FAT o axqiY &

(b)

(©)
(d

WRA & Iwrgafa & fafew o

fratawor g & oy

(a) @88 F M) FEAT F Tt ¥ e I
ST 8

(b) ¥ TT 9T ¥ gaaEl F fiet o<
AT

(c) | F ! Fet F Faffag aei &
- e e 2

(d) Fad 1w g1 F Faffg geat &
et aar @

freafafea & & o do ¥ Y ge9f

q e @, R w=Ar oMy @=At &t

HIAITE & STAT o 7 qur et st oty

afafc & feer @ &1 AfER 2, g

q€ 79 & & ford sl A8 & 7

(a) g, fa<r sranr

(b) HERIEETSY

(c) Faas-mermgs

(d) T 9 T
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129.

130.

131.

Which one among the following
countries is not touched by the Stilwell
Road constructed during the World
War I1 ?

(a) Myanmar
(b) Thailand
(c) China

(d) India

Which one among the following wars
ended by the Treaty of Salbai ?

(@)
(b)
©
(d)

First Maratha War

Second Maratha War

Third Maratha War

Fourth Mysore’ War

Navroze is a festival celebrated in India
by the

(a) Hindus

(b) Muslims

(c) Parsis

(d) Christians

The Jury Act of 1827 was opposed by
many Indians. One of the grounds for
opposing it was that it denied both to the
Hindus and Mohammedans the honor of
a seat on the Grand Jury. Which among

the following was known for his
opposition to the Jury Act ?

(a) Gopal Krishna Gokhale
(b) Lord Sinha
(c) Sir Syed Ahmed Khan

(d) Raja Rammohan Roy

P-OEBB-M-HBU - A
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132.

133.

134.

Plan Balkan was

(a) a plan devised by Mountbatten to
transfer power to separate provinces
or confederation of provinces, with
the Bengal and Punjab Assemblies
being given the options to vote for
partition of their provinces

(b) The plan devised by Pethick

Lawrence to give autonomy to
Indian princes and provinces

(c) A plan devised by the Muslim

League and the Congress to provide
autonomy to Indian provinces to
form confederations

(d) A plan devised by Mountbatten to

allow Indian princes the freedom to
either be independent or to join
either India or Pakistan

Which one among the following pro-
minently rose in revolt against the
British in 1857 ?

(a) Punjab Army
(b) Madras Regiment
(c) Bengal Army

(d) Awadh Regiment

The first Prime Minister of India in 1947
was appointed by

(a) the Governor General
(b) the President of India
(¢) Mahatma Gandhi

(d) acommittee headed by Dr. Rajendra
Prasad
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fadia fona 9 & Sk a9 o el
Uz, Fefafed & e us 3w 97 7@
it 7

(a) WK

(b) FEAS

(c) ==

(d ¥9Ra

fFrafafaa & @7 a1 v g7, awer &
afer & gRT ATy e ?

(a) 999 WZT gg

) fedita wrer g5

(©) T w2 3

@ ¥4 &R 78

ART H TN AR & 719 & 7
@ fg

b) Hiem

(©) IRET

(d) fafyaas

g AR WRAET T 1827 ¥ S VT @
foreg fram | % g & smwY § &
T T o1 T | fivg ik qaenTe QY
& 38 I 50 ¥ © & @ & afeg

ferarr | Freferfaa & & =, sa s e &
forer & fordr e S & 2

(a) T FooT vy
(b) «FE famer

() T &I JgHe @F
(d) TS THANEA T
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133.

134.

RT-3TRT Tl AT g7t & IiEs it
Uy safed =3 Y AedeT T
fostoa A, Rad oone o s
faremerstrel Y 9 gat ¥ e
& o aqem =Y F oy By W
ARAT TN T gia) F7 @rEaar
7 Y IR aRe gy frefig asmr
IRAE gl &0 afEw s &y
wEIEar & ol g o sk
HET gRT g dremT

ARA R HY a1 QY w@GT @ a7
TR 3¥aT arfehear § fier s oy
G aaar 3 & forr wkedew g
fefia grsmr

(a)

(b)

©

(d)

frafafea & #37 w, 1857 & ffewr ¥
e s ¥ e v & 93 @ g ?

(a) 9T T

(b) wETH WHE

(c) STTer 3rTHf

(d) =y Wi

1947 ¥ SR T Geell Ta 1 ey
g1 Fgey o a7

(a) AR FReA

(b) WRA HT Tgufy

(©) ﬁ%ﬁmﬁeﬁ

(d) st TSt gare & sremEET ¥ uw
afafa
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Which one among the following state-
ments is correct ?

The press in democracy must

(a) be free and impartial

(b) be committed to the policies of the
government

(c) highlight the achievement of the
government without criticizing its
policies

(d) criticize the policies of the govern-
ment

Telescopes are placed in space to view
distant galaxies primarily to

(a) get closer to the observed objects

(b) avoid the absorption of light or
other radiations in the atmosphere
of the earth .

(c) avoid light pollution from the

earth’s populated areas
(CY)

avoid steering the telescope against
the earth’s motion

SONAR is mostly used by
(a) Doctors

v(b) Engineers

(c) Astronauts
C))

Navigators

A bucket full of water is kept in a room
and it cools from 75°C to 70°C in time
T, minutes, from 70°C to 65°C in time
T, minutes, and from 65°C to 60°C in
time T, minutes, then

(@ T, =T,=T;
b T, <T,<Ty
© T, >T,>Ty
d T,<T3<T,
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139.

140.

141.

142,

(b)

For a simple pendulum, the graph
between T2 and L (where T is the time
period & L is the length) is

(a) straight line passing through origin
(b) parabolic
(c) circle

(d) none of the above

When an electrical safety fuse is rated
(marked) as 16 A, it means it

(a)

will not work if current is less than
16 A

has a resistance of 16 Q2

(b)
©)

will work if the temperature is more
than 16°C

will be blown (break) if current
exceeds 16 A

(d)

Who among the following was recently
(May 2012) elected as Chair of the
Asian Development Bank’s Board of
Governors ?

(a) Pranab Mukherjee

Montek Singh Ahluwalia

Duvvuri Subbarao

©)

(d) Aditya Puri

Consider the following statements :

1. Justice Dalveer Bhandari was
recently elected as the President of
International Court of Justice.

2. Justice Bhandari was a senior Judge
of the Supreme Court of India.

- Which of the statements given above

is/are correct ?

(a) 1 only

{(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2
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(a) 9vIF gt

(b) "w fo sreeEnferar

© 3 g==RE

@ fe g

frefefe @i & fer fift

L. wEgid Tedk e ' & #
AT AT & srerer i
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2. WEfd WY WRa ¥ geaaw
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(a) F¥ae 1
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() 132 QY

(d TaAL T8 2

(b)
©
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Consider the following names in the
field of Indian cinema :

Vidya Balan
Soumitra Chatterjee
Tapan Sinha
VK Murthy

Which of the following
is/are correct ?

1. All of them are winners
Dadasaheb Phalke award.

2. While Tapan Sinha is a film
director VK Murthy is known for
cinematography

statements

of

3. Soumitra Chatterjee was the last to
get the Dadasaheb Phalke award.

Select the correct answer using the
code given below :

(@ 1,2and 3
(b) 2 and 3 only
(c) 3 only

(d) 1 and 2 only

Who among the following was awarded
the first Tagore Award for Cultural
Harmony for the year 2012 ?

(@)
(®)
©
@

Jasraj
Ravi Shankar
Nikhil Banerjee

Bhimsen Joshi

Consider the following about the budget
proposals for the year 2012-2013:

1. Service tax rate raised and covers
all services including those in the
negative list.

2. Increase in defence allocation over
the previous year.

P-OEBB-M-HBU - A
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Which of the statements given above
is/are correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

Suppose, the Naxalites have kidnapped a
Deputy Commissioner from Baster
region in Chhattisgarh and taken him to
the Abujmad area. In return for his
release, the Naxals demand that all
Naxal prisoners must be released from
jails across India. In such a situation
which among the following may be the
best conflict resolution mechanism ?

1. The paramilitary and local police
attack the Naxalites and attempt to
release the kidnapped.

2. The state forces offer huge sums of
money to the Naxals as ransom and
release all Naxal prisoners.

3. The state forces engaged the Naxals
in a dialogue while simultaneously
sending in a commando force to
release the prisoners.

4. The state forces utilize local media-
tors to engage with the Naxals to
workout a resolution process for
release of the kidnapped.

Select the correct answer . using the
code given below :

(a) 1,3 and 4
(b) 2 and 3

(c) 3 and 4 only
(d) 4 only
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A high level committee set up by the
Ministry of Housing and Urban Poverty
Alleviation conducted a survey of the
slum populations in India’s states.
Which one among the following states
was identified as being the one with
highest slum population ?

(a) Andhra Pradesh
(b) Madhya Pradesh
(c) Maharashtra
(d) Tamil Nadu

The UN has recently passed -a resolu-
tion against human right violation in a
South Asian country. Which of the
following was the country ? '

(a) Nepal
(b) India
(¢) Pakistan

- (d) Sri Lanka

P-OEBB-M-HBU - A
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150.

Prof. Vijay Raghavan, an Indian scientist,
who has been elected Fellow of Royal
Society in the year 2012, is a renowned
(a) Biotechnologist

(b) Chemist

(c) Agricultural scientist

(d) Missile engineer

‘Operation Cactus’ is the name given to
Indian Military intervention in

(a) Maldives
(b) Sri Lanka
(c) Bangladesh

(d) Bhutan
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Note : English version of the instructions is printed on the front cover of this Booklet.



